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State the domain and range for the following relation. Then determine whether the relation represents a function.
{7.1). 8,1), (8.1), (10,1}

The domain of the relation is {7 F! ff /0 b,
(Use a comma to separate answers as ficeded.)

The range of the relation is :

(Use a comma to separate answers as needed.)

Does the relation represent a function? Choose the correct answer below,

(0 A. The relation is not a function because there are ordered pairs with 7 as the first element and
different second elements.

(O B. The relation is not a function because there are ordered pairs with 1 as the second element
and different first elements.

;@fc. The relation is a function because there are no ordered pairs with the same first element and
different second elements.

(O D. The relation is a function because there are no ordered pairs with the same second element
and different first elements.

- f"_“".“ - - — - —_ e — S PR

6-1;,-*" State the domain and range for the following relation. Then determine whether the relation represents a function.

{(~6,5), (=5,1), (-4,0), (-3,1)} U/
The domain of the reiation is -{l-*ﬁt "rf""{! ‘.__k}. ) ’

(Use a comma to separate answers as needed.)

The range of the relationis { @, [, § }.
(Use a comma to separate answers s needed.)
Does the relation represent a function? Choose the correct answer below.

(0 A. The relation is a function because there are no ordered pairs with the same second element
and different first elements.

(0 B. The relation is not a function because there are ordered pairs with - & as the first element
and different second elements.

>’2’6. The relation is a function because there are no ordered pairs with the same first element and
different second elements.

(O D. The relation is not a function because there are ordered pairs with 0 as the second element
and different first elements.

5of69
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ST

2.5/ .
Use the graph of the function f shown to the right to answer y @
parts (a)-(f

{-12.12) 16

(@) Find f( - 28) and (8).
f(-28)=] —~%
(8= —% |
(b) Find f(24) and £(0).
fedy= & |
()= ~4

(c) Is f(8B) positive or negative?

{7 Positive

"4}',{ Negative

() Is f{ = 8) positive or negative?
Ef Positive
() Negative

(e} For what value(s) of x is f(x) = 07

x=[-LF, ~F /6
(Use a comma H separate answers as needed.)

(f} For what values of x is f(x) > 0?

4 A Y and 16LXLLY
(Type a compound inequality. Use a comma to separate
answers as needed.)

{g) What is the domain of f?
The domain of fis {x| «2F E_ﬁ F L¥
{Type a compound inequality.)

(h) What is the range of f?

The range of fis {yl -5 4 E! _‘-';?2_
(Type a compound inequality.)

{i) What are the x-intercept(s)?

(2,9, (~%,0), (/6,0)

(Type an integer or a simplified fraction. Use a comma to
separate answers as needed.)

(j) What are the y—intercepf(s)?

=125 )

(Type an integer or a simplified fraction. Use a comma to
separate answers as needed.)

(k) How often does the line y = 1 intersect the graph?

Il of 69 11/17/2017, 8:539 AV
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using the vertical-line test. If it is, use the graph to find
(a) its domain and range.
{b) the intercepts, if any.

{c) any symmetry with respect to the x-axis, y-axis, or the * ©
origin, -n -a/2 /2 /x

L4

24,/
O Determine whether the graph below is that of a function by Cf"b\

Is the graph that of a function?
?55: Yes

If the graph is that of a function, what are the domain and range of the function? Select the correct choice below and fill in
any answer boxes within your choice.

%\- The domain ISETI:!TTJ . The range is [:'llj I__j :

(Type your answers in interval notation.)
2) B. The graph is not a function.

What are the intercepts? Select the correct choice below and fill in any answer boxes within your choice.

}S{A- The intercepts are (ﬁ) d/) f.( "'7//7 "I) J (o} 0)

(Type an ordered pair. Type an exact answer using n as needed. Use a comma to separate
answers as needed.)

() B. There are no intercepts.
(0 €. The graph is not a function.

Determine if the graph is symmetrical.

It is symmetrical with respect to the x-axis.
It is symmetrical with respect to the origin.
It is symmetrical with respect to the y-axis.
The graph is not symmetrical.

The graph is not a function.

!ﬂppg?

12 of 69 T1/17/2017, 8:59 AM
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"y
"25. |
Cj The graph of two functions, f and g, is illustrated below. Use (a) (f+g)(1) =‘ ' ]

the graph to answer parts (a) through (f).

26. |
/ Use the graph of the function f given below to answer the
question.

-10 ey .oy 10

https://xlitemprod.pearsoncmyg.com/api/v | /print/mat
25
(Simplify your answer.)

Oy (f+g3=_ -7

(Simplify your answer.)

(© (F-g)i5)=_ ~7
(Simplify your answer.)

d@-H5=_ 7

{Simplify your answer.)

@am=_ O |

{Simplify your answer.}

® [é](s)! et |

(Simplify your answer.)

Is f strictly decreasing on the interval (-2, 0)7

13 of 69

STy

{Type your answer in interval notation. Use a comma to

separate answers as needed.} C}
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-
28. |
A Use the graph of the function f given below to answer the Is there a local maximum at x= - 3?
questions.
X’ Yes
'y 0 No
10+
. If there is a local maximum at x= - 3, what is it? Select the
] correct choice below and fill in any answer boxes within
] your choice.
- }iA The local maxlmum is ('
TR TR v=_ G 3,9)
] (Type an integer.)
=5+ () B. There is no local maximum at x= - 3.
10

questions.

-

il i - i

I

9.
L/" Use the graph of the function f given below to answer the List the values of x at which f has a local minimum, Select

¥

" 30.
Find the absolute minimum of f on [~ 9,8].

Select the correct choice below and, if necessary, fill in the

answer boxes to complete your choice,

) A. The absolute minimum Of”s'?

(Type integers or fractions.)

(o=

)=

() B. There is no absolute minimum.

14 of 69

the correct choice below and fill in any answer boxes wa i
your choice.

)Q/A. = —6, 2

{Type an inTéger. Use a comma to
separate answers as needed.)

() B. There are no local minima.

What are these local minima, if they exist? Select the
correct choice below and fill in any answer boxes within
your choice,

ﬁA The local minima are "y - . (ﬂ *(&)

(Type an integer. Use a comima to (1 ~¢ )
separate answers as needed.) J

. There are no local minima.

O
o

11/17/2017, 8:39 AM
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31/!

Use the graph to find:

(a) The numbers, if any, at which f has a local maximum.

What are these local maxima?
(b) The numbers, if any, at which f has a local minimum.
What are these local minima?

hitps://xlitemprod.pearsoncmg.com/api/v]/print/mat

{a) Select the correct cheice below and fill in any answep—
boxes within your choice. 3 '
/

% A. The value(s) of x at which f has a local
maximum isfare x= (%)
(Type an integer. Use a comma to
separate answers as needed.)

() B. There are no values of x at which f has a
local maximum.

Select the correct choice below and fill in any answer boxes
within your choice.

KA. The local maxima is/are Oree ( [ | l)
v=_ | :
{Type an integer. Use a comma to
separate answers as needed,)

) B. There are no local maxima.

(b) Select the correct choice below and fill in any answer
boxes within your choice.

A, The value(s) of x at which f has a local
minimum isfare x= =2 J ji
(Type an integer. Use a comma to
separate answers as needed.)

{_) B. There are no values of x at which f has a
local minimum,

Select the correct choice below and fill in any answer boxes
within your choice.

(-2, 9)
9)

() A. The local minima isfare

y= Q o : Cl )
(Type an integer. Use a comma to
separate answers as needed.)

B. There are no local minima.

11/17:2017, 8:39 AV
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32./ Using the given graph of the function f, find the following. m[ 13)

(a) The numbers, if any, at which f has a local
maximum. What are these local maxima? b
{b) The numbers, if any, at which f has a local -n 2
minimum. What are these local minima?

B A

(i)

(a) Find the value(s) of x at which f has a local maximum. Select the correct choice below and fill in any answer boxes in
your choice,

KA x= B
(Type an exact answer, using = as needed. Use a comma to separate answers as needed.)
() B. There is no solution.

Find the local maximum. Select the correct choice below and fill in any answer boxes in your choice.

B ok (F 13)

{Type an exact answer, using = as needed. Use a comma to separate answers as needed.)

i

() B. There is no solution.

{b) Find the value(s) of x at which f has a local minimum. Select the correct choice below and fill in any answer boxes in
your choice,

Koo T

(Type an exact answer, using = as needed, Use a comma to separate answers as needed.)
() B. There is no soluticn.

Find the local minimum. Select the correct choice below and fill in any answer boxes in your chaice.

;fA. —1% £ ( '_'3)

(Type an exact answer, using m as needed. Use a comma to separate answers as needed.)
(O B. There is no solution.

33. | Determine algebraically whether the given function is even, odd, or neither,
/ f(x) = 5x° + Bx ﬁ'x): fﬁﬂ)Jﬁ'IK‘)‘)
] K) 2 SR ) )(x) Tt FC)
.52( Odd ﬁ_l() "= S’-(“}(g)*"' X(")(}
Neither /(,7(): .__S-)()"_ §x
/[(4) =~ ( $X°+ Fx)
/(——X) = —~( fo0

57 Wéf (—X)I_Tﬁ—‘j N O /(07“ :)

16 of 69 11/47/2017, 8:59 AM
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